2. Fill out the table for Cos (round decimals to the nearest hundredth) and plot.
P 0 x| 3z = 5z |3z | Ix |5, | 9= | 5z | 11z |5, |13z | Ix | 15x

= = |==|= == || ==|4x

47:4 4 1218 |“"| 4|24 |°|a|2]| 4
Coss|110.71]0 |-0.71|-1|-0.71 0 [0.71| 1 |0.71| 0 t0.71|-1|-0.71| 0 | 0.71] 1
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X, XN 7~

N NN
Period = Z7T Amplitude = Eq Midline: ; =0

These are all the same as for y=Sinx !

The Parent Function: y = Sinx

Period= 21
Amplitude= 1

Eq of Midline: y =0

One cycle of the parent Sine function looks like a sideways "S".

What does one period of the parent Cosine function look like?
y

! *\ /' The "first" period of a Cosine
0 Va looks like a "U"-shape

or similar to a parabola.
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PEERANE

Where does Cosine "start"? Cosine "starts" at a MAXIMUM.

The Parent Function: y = Cosx

Period= 21
Amplitude= 1
2m
X Eq of Midline: y =0

This is all the SAME as Sine!!!



How are the graphs of Cosx and Sinx the SAME?

The have the same Period, Amplitude, and Midline.

Both "start" on the y-axis (x=0)

(o)
How are the graphs of Cosx and Sinx DIFFERENT?

Where they start.

Starting points for

Starting points and direction for the

Parent Functions. Sine Graphs| y = aSin/Cosx Cosine Graphs
_ " Positive a Positive a
y= Sinx L Starts Starts
Starts on the midline then goes up. on the Midline at a Max
and goes UP
y = COSX Negative a
. Negative a
Starts at a maximum. Starts Starts
on the Midline ata Min
and goes
DOWN




ALSO

(o, )
y (5. ( ) y = Cosx How else is the graph of Cosx related to the graph of Sinx?
They are horizontal translations of each other.
To get the Sinx you translate Cosx 90° to the right
Sinx = Cos(x-90°)
To get the Cosx you translate Sinx 90° to the left
Cosx = Sin(x+90°)
Y asinbx y = acosbx
a = Amplitude (vertical Stretch or Shrink factor) a = Amplitude (vertical Stretch or Shrink factor)
a<0 is an x-axis reflection (upside down) a<0 is an x-axis reflection (upside down)
. 2n 2n : 2n 2n
= — —_— = _ Period = — —_— b= ;
Period = ® = Period b Period

This is all the same as Sine!!!



Graph one period of this Cosine Function. Label the coordinates of
all maximums, minimums, and pts on the midline.

y =10 Cos 12x T /6
mmp\\—l«/\de = [ (O))D> (t ’ )
_ T
?pr\od = I—L‘__ g
M\(l,l)ho_'- =0 I O)
y’ ;"/-)‘ = J =0
STARTS AT
A Max
m
L)
Write the equation of this Cosine Function.
m@l:w;e: Y=t
A'mp// +ude = ?« o=
a=-T
- Jor
Perlodl S o7y
= & 5
T T
>
:_Z—l
EQ: ﬁh T (o5 (3,%) 14 ST =2T. 3
3
b= %4
= 2
als
o= %7 - 2T 2
2 >

Write the equation of this Cosine Function.
\/L()lde

(0,6)

94“‘“

Graph one period of?: = -7COS(%)

midline. - Y= éz‘_z’é

K=o
Amph%d&: Q
A=l

=0

Per\cé = 2,—;];: Cﬂf

Label the coordinates of all x-intercepts, maximums, and minimums.

(7 ;2




Write the equation of this Cosine Function.

\ j— C‘[Ole ;- mlél‘“e'_ g;o
@//r‘ )4 =)
e = 3
g 2 BN 7 Amp =
. \\ // 4n A=
\\ // 1 [ ‘Fe(\oé, = 4 ais
2 \\ ;g;r‘ _ l/
- =y = Y
y = 3Cos(x/2)
\__/

1. Fill in the missing coordinates and write the equation of this Cosine

Function (%’7)

Write the equation of this Cosine Function.

Secles —— |
3 midline: ;;O
2 e
N\ A Amplidudes 2.
N N N a=-2
/ / \ \\ : .?er*u)d.: _—33_
w /
73 2T
b=3
y=-2Cos(3x)
Write the equation of this Cosine Function:
L ode——+4 . mdline: g,;o
(+=.8) e
6 =0
o\mplu—(md@: s
a=38
-
Perwé: -
b= ZT_or ¢
= T
b=l

LY = 8Cos(12x)



Write the equation of this Cosine Function:

Vo cycle

9
A =
MP A= —q
mid line: =D
K=0D ?

y = -9Cos10x

You can now do Hwk #10

Sec 13-5

Practice Sheet



